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1. a) Conv \0 radians: 100° b) Convert to degr 7—”
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2. The angle subten‘h y an arc is 54° and the radius is 8 feet,'
a) find the arc length. *’ 5\% ’r - 27Tr % b) flnd the area of the sector.
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4. Let 6 be in standard position with the point (-12, 5) on it’s terminal side.
a) Draw the terminal side of the angle and the reference triangle.
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b) Find the values of the six trig functions. -2
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a) Name the quadrant that 6 is n °© neg ahive @, e

b) Draw the terminal side of the angle and the reference trlangle
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c) Find thev of the re aining tri fun ions. @
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a) Write the expression as sine, cosine, or tangent of a single angle.
tan (’Tl")
b) Find the exact value of the expression.
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8. Find the exact value of cos(165°) = co&‘dgs °+ 30°) = cos 138%Cos 30° - Sin /3830
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